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Geography Model Test Questions 6 in English With Answers

1. Tata iron and steel company is located at

(A) Asansol (B) Bhadravathi (C) Jamshedpur (D) Salem
2. How many states are there in India?

(A) 20 (B) 22 (C) 25 (D) 27

NOTE: Now — 29. Telangana is the 29" State.
3. Which one of the following is a union territory?

(A) Goa (B) Manipur (C) Damn & Diu (D) Nagaland
4. Which one of the following is not a state?

(A) Nagaland (B) Chandigarh (C) Manipur (D) Arunachal Pradesh
5. Khajuraho is situated in the state of

(A) Andhra Pradesh (B) Maharashtra (C) Orissa (D) Madhya Pardesh
6. Match the following using the codes given below:

a) Cauvery 1) Andhra Pradesh

b) Krishna 2) Tamil Nadu

c) Ganges 3) Egypt

d) Nile 4) West Bengal

Codes:

o

C
(A)
(B)
(©)
(D)

7. Silent valley project is being given up because of

2
1

N W b
N PN W T
A W b~

4
3

(A) state government’s indifference (B) danger to the place’s ecological features
(C) economic non-feasibility (D) its unsuitability to the region
8. Which hill is named after its colour?
(A) Kodaikanal (B) Nilgris (C) Yercaud (D) Kolli Hills
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9. The traditional site for pearl fishing in India is
(A) Andamans (B) Gulf of Mannar
10.  The state which has its border from Himalayas to the ocean
(A) Assam (B) West Bengal
11. Mettur dam was designed by
(A) Visweswaraiah
(C) Chandra Sekar
12.  Elephanta pass is in Sri Lanka. Where is Elephanta caves?
(A) Orissa (B) Kerala
13.  Which state in India produces highest amount of coal?
(A) West Bengal (B) Orissa
NOTE: Jharkhand
14.  Which of the largest peninsular in the world?
(A) Greenland (B) Iltaly (C) Malaysia
15.  Where is Vaigai dam located?
(A) Madurai District
(C) North Arcot
16.  Temple city of Tamil Nadu
(A) Madurai (B) Thanjavur

17.  Where is silent valley?

(A) Himachal Pradesh (B) West Bengal (C) Orissa
18. Boiler plant is situated at
(A) Kalpakkam (B) Thiruverumbur (C) Salem

19. Narimanam is famous for

(A) Cardamom (B) Sandal wood

20.  Which one is not a steel plant?
(A) Bokaro

(B) Durgapur (C) Trombay

21.  The examples of cash crops are
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(C) Tuticorin

(C) Haryana

(C) Maharashtra

(C) Guijarat

(C) Kancheepuram

(C) Petroleum products
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(D) Visakhapatnam

(D) Meghalaya

(B) Hanumanthaiyah
(D) Jayasamaraja Udayar

(D) Karnataka

(D) Bihar

(D) None of these

(B) Salem District

(D) Kanyakumari District

(D) Kumbakonam

(D) Kerala

(D) Kummidipoondi

(D) Tea

(D) Rourkela
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22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

(A) Paddy and Maize (B) Groundnut and Gingili

(C) Coffee and Tea (D) Onion and Chillies

Bhakra Nangal Dam is constructed at

(A) Uttar Pradesh (B) Punjab (C) Madhya Pradesh (D) Orissa
Which one of the following is a cash crop?

(A) Paddy (B) Wheat (C) Millet (D) Turmeric
Where in India lead is produced?

(A) Rajasthan (B) Uttar Pradesh (C) Madhya Pradesh (D) Bihar
Which state has the highest rainfall in India?

(A) Maharashtra (B) Tamil Nadu (C) Karnataka (D) Assam
Jalahalli is connected with

(A) Hindustan Telephones Limited (B) Hindustan Aeronautics Limited
(C) Hindustan Shipyard Limited (D) Hindustan Machine Tools Limited
We get lignite from which city?

(A) Neyveli (B) Jharia (C) Raniganj (D) Digboi
Rubber grows in which country?

(A) India (B) Pakistan (C) Chile (D) Japan

The first railway line between Mumbai and Thane was put up in

(A) 1923 (B) 1853 (C) 1943 (D) 1913

Hirakud Dam is built across which river?

(A) Mahanadi (B) Cauveri (C) Godavari (D) Krishna

In which state the Bokaro steel plant is set up?

(A) Madhya Pradesh (B) Uttar Pradesh (C) Bihar (D) Andhra Pradesh
NOTE: Jharkhand

Which place in Kerala is famous for maximum coir production?

(A) Alleppey (B) Kottayam (C) Trishur (D) Cochin
Woolen clothes are famous in

(A) Surai (B) Salem (C) Nagpur (D) Dhariwai
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34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45,

46.

47.

Where is ICF?

(A) Perambur (B) Golden Rock (C) Jolarpet (D) Renigunta
Large quantity of Tea in India is produced at

(A) Nilgiris (B) Kashmir (C) Darjeeling (D) Assam
Which state in India produces maximum quantity of Sugarcane?

(A) Kerala (B) Karnataka (C) Uttar Pradesh (D) Tamil Nadu
Black soil is very good for the growth of

(A) Cotton (B) Wheat (C) Rice (D) Tobacco

Which dam is built across the sutlej river?

(A) Kakrapara (B) Bhakra Nangal (C) Nagarjuna Sagar (D) Mayurakshi
White revolution indicates high production of --------- product
(A) Cotton (B) Sugar (C) Milk (D) Poultry

Which is the capital of Periyar District?

(A) Salem (B) Erode (C) Karur (D) Dharapuram

The river Ganges rises in

(A) Lake Mansarover (B) Gangotri (C) Badrinath (D) Mt. Kailash

The largest producer of rice in India is

(A) Andhra Pradesh (B) Tamil Nadu (C) Orissa (D) West Bengal
Srinagar is situated on the banks of the river

(A) Sutlej (B) Ravi (C) Jhelum (D) Beas

What is the Latitudinal Extent of India?

(A)8°Nto32°N  (B)10°N to 30° N (C)8Nto25°N (D) 10°Nto 25° N
What is the difference in time between Greenwich Mean Time and the Indian Standard Time?
(A) 5 Hours (B) 5% Hours (C) 6 Hours (D) 6 ¥2 Hours
Which region receives rainfall in winter?

(A) Kerala coast (B) Bombay coast  (C) Andhra coast (D) Tamilnadu Coast
Give the number of Union Territories in India

(A)S (B)6 (C)7 (D)8
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48.

49,

50.

51.

52.

53.

54,

55.

56.

S7.

58.
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Name the largest river in South India

(A) Godavari (B) Krishna (C) Cauvery (D) Mahanadi

The northern — most ranges of the Himalayas are known as

(A) Siwaliks (B) Himachal (C) Himadri (D) Pir Panjal

The western ghats are also known as

(A) Maikal range (B) Satpura range (C) Vindhyarange (D) Sahyadri range
The western ghats and the eastern ghats join at

(A) Anaimalai (B) Dodabetta (C) Cardamom hills (D) Kodaikanal

The southern part of the eastern coastal plain is known as

(A) Malabar coast  (B) Kerala coast (C) Circar coast (D) Coromandel coast
The south-west monsoon in our country extends

(A) From June to September (B) From July to October

(C) From June to October (D) From July to September

Which side of the mountain receives little rainfall?

(A) Top side (B) Bottom side (C) Windward side (D) Leeward side
The place which receives heaviest rainfall in India is

(A) Calicut (B) Mangalore (C) Cherrapunji (D) Mumbai

The Mangrove forests are known as

(A) Terai (B) Tehri (C) Sunderbans (D) Khadar

What are the plants that shed their leaves in summer called?

(A) Evergreen plants (B) Deciduous plants (C) Coniferous plants (D) Tidal plants

Match list I correctly with list Il and select your answer using the codes given below:

List | List 11
a) Indira Gandhi centre for atomic research 1. Bangalore
b) Central rice research institute 2. New Delhi
c) National aeronautical laboratory 3. Cuttack
d) Central food technological research institute 4. Kalpakkam
5. Mysore

Codes:
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59.

60.

61.

62.

63.

64.

a b C d
(A 3 4 1 2
B) 1 3 2 5
(C) 4 3 1 5
(D) 2 3 1 5

Match list I correctly with list 11 and select your answer using the codes given below:

List I List I
(A) Vishakhapatnam 1. Automobile Industry
(B) Haldia 2. Rocket launching station
(C) Thumba 3. Paper industry
(D) Sirpur 4. Ship — building industry

5. Oil refinery

Codes:

a b C d
A 4 5 2 3
(B) 4 3 2 1
) 4 5 2 1
(D) 4 3 2 5
Seismograph is used for
(A) Measuring adulteration in milk (B) Recording the force of earthquake
(C) Measuring atmospheric pressure (D) Recording the amount of rainfall

Tank irrigation is largely practiced in this district of Tamil Nadu

(A) Coimbatore (B) Thanjavur (C) Dharmapuri (D) Chengalpattu
Latitudinal extension of Tamil Nadu is

(A) 8°Sto 13°S (B)8Nto1* N  (C)8°Eto 13 °E (D) 8° W to 13° W
Where is the Sex-ration lowest in India?

(A) Punjab (B) Sikkim (C) Chandigarh (D) Tamil Nadu
Name the largest and smallest states of India with respect to population

(A) Uttar Pradesh and Meghalaya (B) Uttar Pradesh and Sikkim
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65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

(C) Uttar Pradesh and Assam (D) Uttar Pradesh and Tripura

Farakka project is located in

(A) Assam (B) Bihar (C) West Bengal (D) Uttar Pradesh
Which of the following pairs is not correctly matched?

(A) Nangal — Haryana (B) Sholapur — Maharashtra

(C) Rourkela — Orrissa (D) Sindri — Bihar
Which state mines the largest quantity of lignite?

(A) Andhra Pradesh (B) Kerala (C) Tamil Nadu (D) Uttar Pradesh
In which place, wind mills are highly concentrated in Tamil Nadu?

(A) Namakkal (B) Dharmapuri (C) Kayatharu (D) Lalgudi
The river Yamuna rises from

(A) Gangotri glaciers (B) Jamunotri glaciers

(C) Malwa plateau (D) Mansarovar
The Indian state with longest coast line is

(A) Tamil Nadu (B) Kerala  (C) Karnataka (D) Andhra Pradesh
The thar desert believed to be expanding. The most suitable way to check it would be
(A) Afforestation (B) Artificial rain

(C) Canal irrigation (D) Using the area for cattle rearing
Norwesters are local winds that are prominent in

(A) Tamil Nadu (B) Andhra Pradesh  (C) Punjab (D) West Bengal

In India, standard time, is fixed on the basis of standard meridian which passes through
(A) Kovalam (B) Puri (C) Dwarka (D) Allahabad
Which is the leading producer of wheat?

(A) Madhya Pradesh (B) Maharashtra (C) Punjab (D) Uttar Pradesh
Shimoga is known for

(A) Gold Production (B) Nuclerar power production

(C) Hydel power production (D) Mineral oil production

Which is the wrongly connected pair?
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State Capital
(A)Bihar Patna
(B) Orissa Cuttack
(C) Gujarat Gandhi Nagar
(D) Andhra Pradesh Hyderabad

77.  Which of the following is not meant for irrigation?
(A) Bhavani sagar (B) Siva samudram
(C) Krishnaraja sagar (D) Bhakra nangal
78.  Consider the following statement:
Assertion (A): Cultivating jute is concentrated in West Bengal and Assam.
Reason (R) : It is a traditional crop there.
Now choose the correct answer

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

79. Match list I correctly with list Il and select your answer using the codes given below:

List | List 11
(a) Punjab 1. Jute
(b) West Bengal 2. Tobacco
(c) Andhra Pradesh 3. Wheat
(d) Uttar Pradesh 4. Sugarcane

Codes:

A 3 1 2 4
® 2 1 4 3
© 1 2 3 4
® 3 2 1 4

80. In Tamil Nadu biogas generating agency is coming up at
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(A) Panagudi (B) Perungudi (C) Narikudi

81. Choose the correct match:

(a) Thermal power 1. Atom

(b) Hydel power 2. Sun

(c) Nuclear power 3. Coal, petrol

(d) Wind power 4. Water

(A) (a) and 2 (B) (a) and 3 (C) (b) and 1

Prepared By www.winmeen.com

(D) None of these

(D) (c) and 4

82.  Match list I correctly with list Il and select your answer using the codes given below:

List I List I
(@) Jute 1. Assam
(b) Tea 2. Kerala
(c) Rubber 3. West Bengal
(d) Sungarcane 4. Uttar Pradesh
Codes:
a b c d
A 1 4 3 2
B) 3 1 2 4
) 4 3 2 1
D) 1 3 4 2

83.  The mineral magnetite is available in plenty in

(A) Bihar (B) Karnataka (C) Tamil Nadu (D) Madhya Pradesh

84.  The second largest producer of tobacco in India is

(A) Andhra Pradesh (B) Bihar (C) Tamil Nadu (D) Karnataka

85. Venice of the east is

(A) Tamil Nadu (B) Cochin (C) Mumbai

86. Number 1 producer of Chillies (dry) in India is
(A) Tamil Nadu (B) Andhra Pradesh (C) Bihar
87. The term “El Nino” is associated with the world’s

(A) Climate (B) Economy (C) Peace
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(D) None of these

(D) Karnataka

(D) Politics
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88.  Match list I correctly with list 11 and select your answer using the codes given below:

List | List I
(a) Land of rising sun 1. Bhutan
(b) Land of midnight sun 2. Finland
(c) Land of thousand lakes 3. Norway
(d) Land of thunder bolt 4. Japan

Codes:

A 4 3 2 1
(B) 3 1 4 2
Cc 2 4 3 1
D) 1 3 2 4

89.  Which one of the following pairs is correctly matched?

(A) Shahabad — Fertilizers (B) Sindri — Rubber goods

(C) Pimpri — Drugs and pharmaceuticals (D) Ballarpur - Leather
90.  Which one in not correctly matched?

(A) Burma — Myanmar (B) Ceylon — Srilanka

(C) Gold coast — Tanzania (D) Rhodesia — Zimbabwe
91.  Which one of the following is correctly matched?

(A) Chandipur — Delhi (B) Sriharikota — Kerala

(C) Silicon valley - Bangalore (D) Thumba — Andhra Pradesh

92.  India’s biggest fertilizer plant is situated at

(A) Neyveli (B) Korba (C) Cochin (D) Sindri
93. In India Geo-thermal energy is obtained at
(A) Tuticorin (B) Manikaran hills (C) Khumbat (D) Goa

94, Bharat petroleum company is situated at

(A) Kandla (B) Cochin (C) Dehra Dun (D) Vishakaptnam
95. India has the maximum amount of foreign trade with
(A) England (B) America (C) Japan (D) Germany
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96.

97.

98.

99.

100.

Which one of the pair is incorrectly matched?

(A) Bird sanctuary — Vedanthangal (B) Tiger sanctuary — Manas

(C) Elephant sanctuary — Periyar (D) Wild ass sanctuary — Bandipur
Where is the Indian Forest Research Institute located?

(A) Delhi (B) Bhopal (C) Dehradun (D) Lucknow

Which pair is correctly matched?

Town/City River Bank
(A) Ayodhya - Sabarmathi
(B) Cuttack - Narmada
(C)Vijayawada - Krishna
(D) Kolkata - Ganga
Tamil Nadu’s share of population is ------------------- % to the total population of India (1991)
(A) 2.6 % (B) 4.65 (C) 6.6% (D) 8.6%

Consider the following statements:

Assertion (A) : Same type of parent material produces different type of soil in area of
Different climate

Reason (R) : The climate plays a vital role in soil formation

Now choose the correct answer:

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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